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6. Flx, v} = In(xry 1)
() £, =t (1xt-1)) =0,
() Fle, 1) = (n (e+1-1y= |

{e)
(d) ?Smﬂ is the same as the range of ln = (~00, 00).
8. Domain: Hx~-y2 >0 ﬂ.v.,\n.mﬂ+x
Range : Same as Tange of A/ S04l
I7. Domain:

We must have v...xu. 20 spthat the
Also  j-x2 #0 mae:q‘sh;n?;

And [-xrat 0 =b sy -1,
Se comb
1

iz dePoed,
y-xt2 0= y>yr

ining the conditlons, yEXY ool
V-,

7 WDS&.. let x= (. Then varying v,
A ] > we can obtnn any nonnegative
_ @v t real number : Jﬂ.wmw#kﬂ..
) | -

Now let x= 2. ¢K_Mwm =~
w...N..IL;m y vary *or ¥ W._.f We can obtyin any hcsﬁqnnitﬁr

real number Then the range is Aunoueud.
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20. We -must have 16~y Yy™> - 22 >0
x>

ol ) 2

¥ , the set o%.wo.s...h ndide an ellipsoid,

A

A plane where y= .:Pv..

..<o:. can think of i s tuking ..I: line
X Y= n.2p and fransporting i+ i_.««:mr
© o all values of x. N

XP +.f.u....mrc.£~.& &ﬂ‘ 1?3:“_»_: +o Yo ru\ how
as having something Ho do with a circle.
let xreyF=r® and .ng.wEm‘? Fl=3-r%,
We get a parabola We rotate this in.

X,y around the z-ax's (fley)-axis) to
g=t a vbﬁuwo_cmm. .

WO APJ u.ﬁ no.:-w...&@ﬂu ﬂjm\m O.nu constont x - MQL\ x=0.
We' should have W,H.L,xf 50 w%gmmr* lines of mnonﬁ +1.
Oaf JA fits +his, . : o .

() W T x=0 or y=0, £lx) =0 Ony X firs this
&y T e

.

We have a maximum at (x,y) =(0,0) and thea Plyy)=0
R ) Andad ).nuo note that we should have: parfect
- symmetry. &we&. =0 because of the x* 4y* term
with no other X's and yls - the felitale sign of cireula
Cross sections along z=const, :
A constder y= 0. Then flx,0) = x* Then ‘rote thet we have
i symmetry£lx ) = £(-x,y) and Floy) =fx-y).
@I Similar to (), but adbw the. symmety . between x, ~x is gone.




arount. e 2-axis,
d, sowe




..ﬁ 6
.ﬂ:m T ._.m..ﬁ wPu:n. W@sﬁ.wo; a%a.: @ﬂ:wmo&v hfmri\c Auguised:

- - : X .+a \PJy-T \Ml\m.wﬂ- = —
.ﬁ;m@ ﬁo:“mn‘w.* er,m is in X,
«hw

= O,.de Em et _:_B +¢"\ 4...?4, Mvt,
Iv.

23 ﬁds #19, this s a rﬁ&.wio& ob one sheet ‘Hyperbola 2##&
I . around y-axis

.N«f..ﬁ,..;.&..;ﬁ. rw.‘.‘\_h ﬁov;\«.q.ﬁn. rtﬁo‘vvo?.:» uh ...r:a m_rn.n.&w.

Nm_ mpﬁpro,c,g c«g_.:w :ﬁéipﬁm ﬁpx.&.
2. Oc:@m opening up .Wor\anw Vi

. | der-like
27, ..?G s an m,::ﬁp - i.m xz-plane. S.PS: vary <.‘? geta cylinder-i
.Mup@quﬂ.
prARa g _
2% For =105 we gev <ax so Yhe «21%% i }s\é% ane ts a parabda,
We :PS.\ o r%ﬂ;rorn mﬁ.sg_o&.
z.

3. x*~y*ry - Nx+mw+$,w*w 0. . )
Complete the m@:h_@ (x-\\" - Q:&M im.ﬂb w42 =0
Ay AN r{zr2)>r =2 = e Lm.lfws. Tvrﬁ.f
\Vﬁx __J A.& ..J (NESR) 05 mml..u
.IS. u.ﬂu#.»n._dﬂ .@13 .ﬂoﬂ the 5<mbﬁvo loid q.m one sheet

by |NJ




U5, The distunce fom Goy,2) Ho (1,0,0) ts S Yyte et
.aim .?m“n».ﬁ.;:nn..mdé. by, 2) to the plane x=1 {5 just
the distunce from hx,.(wwv Yo .? (..ﬂ.q Q\r.ﬁ :.mﬂ. ﬂa;:nn‘iam .
these two' points s pefpendicular to the plas Pd._ . .
So the distance s x -1, o ‘
Now 'F the two distances are equal,

VP ayezr D (1) = (ga)2s e +a?
D 0= Yty +at > xe - L2EED

, . " S
an elliptic parabaloid, _
5.2 _ c _ _
3.1 . The e xE !
«Llet yemx. en T = ST <

l+m*> 2
Cand for diffecent values of m, we get ”m,%.?v.%.,.. values, S0
the limit does not exisy .

- 3 i {mx)
A : % [ hd .W:...
¥ Let ysmx. Then x* 45kt T4 5t A

= TR
WFeyt Zxamt x> T 2m
T we let M= 0, as x=0, we get =, Tm.j.;m m=),
Em..@w..,. lim W%H %M.P;Umm. mw__.wm_ h.:wrxu J
Jhwt.w..nw the M.M.s._.w m.omh“zo+ m.‘x_r_...v" |
dw.. mwww«s..gwgu x”..t;‘rﬂ - ﬁuﬂ&&s. W.MW,\KMA xP:wﬂJ.KﬂMvﬁeuzmetv& = 0
13, hﬁ. ,\n_:xv.. .3,95 2xty 2mxHd o 2Zm

XPayT © RREme trm® 0 .

R . . ‘ X ' r . v m
- and .w.ﬂf..:..m m=0 gives 0 while m=1 ..w?ulm } Se +he bimit
does not exist. |
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